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effective provided

(1) Students are given autonomy and
control to work on their own

(2) Students learning is directed and
controlled by the teacher

(3) Teacher plays a central role in
explaining the facts

(4) Teacher directs learning

2. Teaching becomes effective provided

(1) Direct instruction is used in the
classroom

(2) Teacher directed methods are
used in the classroom

(3) Both teacher directed methods
and direct instruction are used

{4) Learner centered instruction and

interactive methods are used

3. A good classroom teacher

(1) Nurtures learner's natural
curiosity

(2) Encourages learners to engage in
dialogue

(8) Involves learners in real world
situations

(4) All of the above

P.T.O.
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Characteristic of creativity is
(1) Originality

(2) Fluency

(3) Flexibility

(4) All of the above

Students have following characteristics
for learning and teaching

(1) Activeness in learning
(2) Students have abilities to learn

(3) Students

through self activity in relation to

construct knowledge

new experiences

(4) All of the above

A slow learner needs

(1) extra help
(2) special help
(3) mno help

(4) some help

If a student gives wrong answer to a

question put up by you. You will

(1) put up another question so that
he himself realises that his
answer was wrong

(2) tell him why his answer was
wrong

(3) ask

answer

some other student to

(4) tell the correct answer
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10.

11.

Teaching is defined as
(1)
(2)

Facilitation of learning

Transmission of knowledge by
teachers and its reception by the
students

3)
4)

Reading the textbooks

Transmission of knowledge by
teachers

.- Which one of the following is a level of

teaching ?

(1) Reflective
(2) Interactive
(3) Projective

(4) Summaﬁve

Teachers need to practise the

following teaching methods
(1) Lecture method

(2) Iﬁte;ag_tive methods
(3) Narratives

(4) None of the above
B

Counselling to students is most useful
for

(1)
(2)
(3)

Enhancing their knowledge
Developing their skills

Developing self confidence in

them

(4) Making them worldly successful
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12,

13.

14.

15.

Multigrade teaching is that where in

(1) A student can pass more than one

class at a time

(2) A teacher to teach the

students of more than one class at

has

the same time

(3) There is no point in classwise
teaching

(4) Al of the above

The role of the teacher is

(1) communicating knowledge

(2) maintaining discipline among
students

(3) creating a learner centered,
activity based, interactive
learning '

(4) All of the above

Teachers should do while teaching
(D
(2)
(3)

Transmit knowledge verbally
Encourage inquiry

Teach through textbook in the
classroom

None of the above

(4)

You can help a talented child by

(1)
(2)
(3)
(4)

Paying more attention to him
Giving him more books

Spending ﬁmre time on him
learning

Giving enriched

experiences
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16.

17.

18.

19.

A

According to Prof. Jean Piaget the
mental development of 0-14 years age
group occurs in four stages. Name the

stage of development for 7-14 years

age group

(1) Sensori motor stage

(2) Pre operational stage

(3) Concrete operational stage

(4) Formal operational stage

As a teacher, how would you deal with
those students sitting in the
backseats and talking to each other ?

(D
(2)

By ignoring them

Ask them to keep quiet or leave
the class

Get them out from the class

(3)

(4) Ask them why they are not

paying attention
Most obJectlve method for measuring
personality of a child is
(1)’ Projective method
(2) Interview method
(3) Questionnaire method

(4) Sociometry method

Education system in India is

(1) Preparing students for life

(2) Preparing for employment

(3) Preparing for vocational courses
(4) Preparing for examination
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20.

22,

23.

In a class a naughty child disturbs the
Which method should a
teacher adopt to know the problem of
the child ? '

students.

(1) Survey method
(2) Case study method
(3) Experimental method

(4) Observation method

Oral guidance is less effective in
(1) Teaching concepts

(2) Teaching skills

(3) Teaching facts

(4) None of the above

An emotionally stable student

(1) maintains cordial interrelation-

ship with classmates

(2)

does not interact effectively with
other classmates

(3)

does not contribute any new

ideas

(4)

does not respect the ideas given
by other classmates

The role of a teacher is
(1)
(2)
(3)
(4)

Transferring information
Providing knowledge
Giving training in skills

Facilitating of knowledge

construction
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24.

25.

26.

27,

A

You can gain attention of your class
through

(1) Speaking loudly

(2) Writing on Black Board

(3) Drawing diagrams

(4) Stimulus Variation

For adaptive and positive behavior a
student needs following life skills

(1) Effective interpersonal communi-

cation
(2) Decision making ability
(3) Coping with emotions and stress

(4) All of the above

If a student asks a question of which

you don't have answer. What will you

do ? You will

(1) tell the student that his question
is senseless

(2)

(3)

try to avoid

the of the
question and convey him next day
rebuke the student for asking

unnecessary questions

explore answer

(4)

A reflective teacher creates classroom
situations for

(1)
(2)

Listening the lecture

Taking notes from the lecture of
the teacher :

(3) Maintaining classroom discipline
(4)

Promoting interaction between
students and the teacher
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29,

30.

The aim of education should be

(1) To develop vocational skills in the

students

(2) To develop social awareness in
the students

(3) To prepare the students for

examination

(4) To
practical life

prepare the students for

It is necessary for a teacher to know

to guide a student

(1) His learning difficulty
(2) His personality

(3) BEnvironment of his home

(4) Al of the above

Which of the following is the nature of
educational psychology ?

(1) Art
(2) Science
(3) Positive Science

(4) None of the above

Cat.-2/23
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9T (qegd /Yo / 3F) & T #

AT - 11 9111 fe=t areram &SR (o 31 & o 60)
(B=t/siistt & & a7 ¢F 917 & &
HAT & U =t orerar aiIeh)
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| & & Frer B

For language — Sanskrlt/Punjabz/Urdu
candidates

Part-I1 : Language-I Hindi or English
(Q. 31 t6 Q. 60)
(Do only one part out of Hindi/English
1.e. Hindi or English.)

Note - Darken any one bubble either Hindi or
English in the answer sheet (OMR).

e - IU-T% (ai’roqqoamo) T option & &F |

Cat.—-2/23




(12)

HET - II/PART - II

T -1 ({&<)/LANGUAGE - I (HINDD

31.

FRsr - efraa mErr @ yEse &9
79 7ol (797 o 31-35) % GV TG
FT [y g Al

Al o ®E, dwerl @R
A ¥ g i d B R
At Ay e & @fg ¥oEy, T
3l TR & wFE @ M E T T R
Gl STEtd FEl er @Rl e
fagy oreER T MY S

T FHG A 9§ e §id &
TEA 3R &9 |HI el ATl ol Ed
a% E T I & S ol 9 e
TERS S=al # eNT S @rll &l o
PR ® o afew ol @ B &% § o
giges gem &1 e w3 ffew
IR F am-azE GR A @
e W oFEY S ® el 3 ueR &
O WUE 19 aeh Ui off & T ¥

qrEiieEs R a9 B E AR
Ferl ¥ 21 g gy e i S 8
21 Oar, @I, OREHE,  dE o
felgY, @9Rd AR FOC R B P
3k e & ufyerdl Rall & e oS ®
od e WiggR S & Al
RG] e 1 o1 s A S | )
¥ ol S-arE enfy @ i Torer
g2 A H MU TR E |

FE@ B Sar F A 8

(1) T H TTAGEE
(2) T ST
(3) &l FHegEE

(4) AT YA

Cat.-2/23

32.

33.

34.

35.

36.

37.

(1) e%rq%srff (2) e ¥
(3) ToIE H
ot fi5l B o A B
(1) IUT &

(2) 3ftcamior ® qREd ST
(3) STEWAHA HIAT

(4) FERE SRIT

SaT B G B
(1) T 2) O gia
(3) M GHd (4) WeERd Hd

(4) T o

‘e’ FEl H AWk W & ¢

(1) TR (2) TEC g

(3) [ER (4) e

g’ P e §
W Fg+® @ T+T

(8)q%=ﬁ+aﬂ4)5{+cﬂ

Fret & @ a1 w98 RO & qaierEl
STl FH B 7

(1) g, =ehumier, =gy, woliar

(2) TERUTIC, SIS, ATAT, THSES
(8) @R, 1M, AT, [eed

(4) WEIER, g9, 94, Sadel



38.

39.

40.

41.

42.

43.

44.

45.

(1) STy

1 7 @ g 9= &
(1) W (2) FHFRT
(3) P (4) HI

e d A gs s qeEi

(1) "ergqd (@) a1y
(3) orguics  (4) UReds

qars’ # qE ¥
(1) T TYEY  (2) T TYHY
(3) wgdile (4) &5

FE A e & 7

(1) w9 Brar (2) ot Rear
(3) HgHT fbr  (4) oM fobam

“ll g wmel LS e e e
(2) AT
(4) Jaqd

Pt 8 @ e Aot 8
2) =

(3) T

1)

3) = 4 =

‘Tl B Al 7
D B+ 37 (2 R+ DA
(8) &® + 3 (4) T +
R # wm ¥ |
w3
3) g

(2) &
(4) 3=

Cat.-2/23

(13)

A

46. Y=HY 7§ v a=E B 9 B9 waEd

(1) fagg, @y, e, e
(2) favaes, fasa, Rredsm, R
(3) fasdsrw, Fsae, fem, fasar
(4) T, RsE, R, Ry

FRer : F=fifes rErer @ gewc [3
T I (F97 o 47-51) & GHv maR
G [AeT g g

I & R & &l X e,
S A A & T | we S S
Sy gy e @i §@ a-afa
DICIE I L i S e
- al | aferam a0 det §
o g ok oS ddt W Rwel @
s 1 S 8 38| e W B
TR 5w T R & S e
SR W Sd A # e g,
ol i B o g iR Reanad
4 o ggArRar ok dd W, wEw
T JEER & R S ww B | T
fermr 2t offam ST Wt |

A ow fmm AR $ gae
IAHINE o T g — WY TGN e
M- @, HuR A o q g8 f
ATl IOGHRT FERON AN Bl qHer 3
&




A (14)
47. & T ¥ 55. QBT S F Y WE YU

(1) T iﬁﬁﬁ (2) T Fey (1) Hrex, B, e, e
(3) oF FQalsr  (4) TF FEE

48. W F R ©
(1) g (2) Snaq gF (3) M, ferer, e, STomer
(3) ¥ g (4) = q BE T

(2) FRX F 9E, B, S, qR

(4) =T, B, 99, @Y
49. HeR TR BT 2
(1) o7 (2) o= wfe
(3) @ g A (4) G I

56. mﬁaﬁm%@@a&ré

(1) geebiel (2) g

50. a1 A ¥ (3) WO (4) AT
@ & @ g 57. e # @ O ol 9 w T g
(3) dirar (4) T gt 787 3, SR 9P
1) 71 (2) IR

51. Froe frarell § gaganar @ |y o 7
U A F - (2) W& (3) it 4) E

(3) W (4) TG 58. /=1 ¥ ¥ oW 9= ¢

52. & g X - HUY W wel ot 2 1) ™ (2) ST
(1) JfareE - Fe (3) Sfa= (4) STiiErg
(2) B - o |
(3) FeT - PR 59. =1 § | #I9 g g dgaad H UgE
(4) ™= - I o & ?
(1) BENER (2) arErRTs
53. Tl o)y W TG wHE o B
(1) d=% (2) dd (3) fafEa (4) foirdi
(8) 9= (4) ST
60. ‘THE 9& H T AT &
54. ‘ofvzd’ A gl WEAEE @ 8 1) T (2) @
(1) wiftge (2) dfeaEd (3) g== 4) firr
(3) T2 (4) ¥ @

Cat.-2/23



(15)

A - II/PART - II
7o -~ I (S A5T)/LANGUAGE - I (ENGLISH)

31. Choose the correct word for the
blank :
You can park the car on ................
side of the road.
(1) either
(2) none
(3) both
(4) neither

R 32. Choose the correct meaning of :

‘A beverage'
(1) something red
(2) an alcoholic drink
(3) any drink
(4) soft drink

33. Choose one word for the words
underlined :
When her dog died she cried very
hard for half an hour.
(1) howl (2) screamed
(3) sobbed (4) drowned

34. Kashmiris ................ between India
& Pakistan. :
(1) an apple of eye
(2) an apple of discord
(3) an apple of fight
(4) None of the above

Cat.-2/23

35. The Solitary Reaper is a melancholy

song. Here, the word melancholy

means
(1) expressing joy

(2) expressing sadness
(3) expressing humour
(4) expressing anger

Directions : Read the passage given
below and answer the questions that
follow (Q. Nos. 36 to 45) by selecting
the most appropriate option :

A completely uneducated farmer's
work is far more important than that
of a professor. We can live without
education) but we die if we have no
food. Ifsno one cleaned our streets and
took the rubbish away from the
house, we should get terrible diseases
in our towns. In countries where there
are mo :servants, because every one is
ashamed of doing house work, the
professors have to waste much of
their time doing house work.

In fact when we say that all of us
must be educated, we mean that all of
us must be educated in such a way

- that firstly, each of us can do what

ever job is suited to his ability and
brain and secondly that we can
realize that all jobs are necessary to
society and that it is very bad to be
ashamed of one's work or to scorn
some one else's. Only such type of
education can be called valuable to
society.

P.T.O.
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36.

38.

40‘

21
A

t

If no one cleans our streets we should
{i) be unclean (2) be unhappy

(3) get disecases (4) get dirty

Only such type of education can be
called Such
education refers to

(1)

valuable.

that which enables us to do any
thing

that which enables us to scorn
some one else's work

(3)
(4)

that which develops dislike in us
that which enables us to do any

work and not to hate any work

Which word in the passage is one
word for 'one who is a university

teacher' 7

(1) teacher (2) professor

(3) educatiomist (4) lectuver

A completely uneducated farmer's

work is more important than
(1)
(2)
(3)

that of a »business:‘man
that of a professor
that of an artist

(4) that of an advocate

Professors, in some countries waste

their time because
(1)
(2)
(3

(4)

they have to do house work
they have to teach lower classes
they have to help the students

they have to wait for train

~2/23

type of

(16)

41.

43.

44.

45.

Which word in the passage is the
opposite of 'like' ?
(1) terrible (2) ashamed

(3) scorn (4) dislike

According to this passage what is very
bad ? ‘ ’

(1) to be ashamed of one's work

to scorn some one else's work

(2)

(3) both (1) and (2)

(4) not to do work suited to our

ability
Which word in the passage means

'‘waste material' ?

(1) uneducated (2) ashamed

(3) rubbish none of these

(4)
We can live without
(1) food (2)
(4)

education

(3) playing doing exercise

What should we realize 7 We should
realize that

(1) each of us can do farming
(2) all jobs are necessary tc society

(3) all of us cannot get education

(4) all of us should not do house work
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470

48.

49,

The word 'Oasis' means
(1) a garden full of flowers
(2) a palace surrounded by trees

(38) a green patch in a desert

(4) a barren piece of land

The passive form of 'He knows her' is
(1) She knows him

(2) She is known to him

(3) She has known to him

(4) She has been known to him
Choose the correct conjunction for
the blank :

He is witty ................ vulgar.

(1) that

(2) because

(3) though (4) S0

Choose
sentence

the correctly punctuated

(1) What a day.
(2) What aday?
(8) What, aday?

(4) What aday !

Cat.-2/23
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50.

51.

52.

53.

The phrase - 'to look into' means
(1)' to examine

(2) tosearch

(3): to exercise

(4) to take care of

'T'o imitate' someone means to
(1) copy someone

(2) tease someone

(3) make someone angry

(4) please someone

Choose the correct preposition for
the blank :

. I mix up the butter ................ I bake

the cake,

(1) before

(2) after

(3) to

(4) None of the above

Choose the correct indirect form of :

Ravi said, "Guests have taken their

lunch.”

(1) Ravi said that guests had taken
their Junch.

(2) Ravi said that guests have taken

their lunch.

Ravi said that guests had to take
their lunch.

(3)

(4) Ravi said that guests are taking

their lunch.
P.T.O.




54.

55,
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Choose the correct preposition for
the blank : '

There is a bench ................ the lamp

post.
(1) through (2) oifer -
(3) along (4) beside

Choose the correct article- for the
blank :

Please help me clean my

apartment.
(1) a (2) an -
(3) the (4) Zerg-article

Choose the correct opposite word for

the underlined word :
Her nephew isn't ugly.
(1) béautiful (2) har-ldsome'

(3) large (4) heavy

Choose the plural of the word given
in bracket :

Scientists are always studying the

................ (phenomenon) of nature.
(1) phenomer}onS

(2) phenomenones

(3) phenomena

(4) phenomenas

(18)

58,

59.

60,

Meaning of the word ‘prophecy’ is
(1) proverb

(2) old saying

( 3) prediction

(4) None of the above

Choose the most natural order of the
following words :

what's that bag / ? in small

fl) What's small in that bag ?

{2) Small whats in that bag ?
(3) What's in that small bag ?

(4) All of the above

Choose the correct #tense of the

underlined vefb phrase :

Kavita said that she had been waiting

for me for two hours when I arrived.
(1) simple past

(2) past perfect continuous

(3) past perfect

(4) present perfect continuous

Cat.—2/23



(19)

9T (Gegd, s, 33) & Thandn g
WRT - 101 : 79T - X1 §%pa S7ear oTreil Sfee 9
(Fo 61 & To 90)
(T TEad W HEg ot Yorel
g)wae;ff@ HT TF 1T B & B
e - TAC-TF (3NoTHo o) § 9y - II § @
B off a1 & 9997 & &< & 39 Sq Al
P B UM GBI gar STE SfgEr 33 A 4@
¥4 TF F57T H BIAl B |
For language — Sanskrit/ Punjabi /Urdu
candidates
Part-III : Language-II Sanskrit or Punjabi or
Urdu. - (Q. 61 t0 Q. 90)
(Do only one part out of language
Sanskrit or Punjabi or Urdu.

Note - Darken the bubble of any one out of |

Sanskrit, Punjabi, Urdu on the top of answer
‘| sheet (OMR).

Cat.~2/28




(20)

T - I/PART - III
A1 (§€T)/ LANGUAGE-II (SANSKRIT)

f@er: - Fretir orgese @ TEET 997 do
61 @ 67 7% % g9 & T &ord |

Ao O JEieARd g |

| AT BYaE e,
WEO A R e 6
TG | TS AOEEN SR g9 A8 RETHAAS
aEmE RIS g AR
CiE BRI EEu CRCE M IRCIGI R IE SR
ERRSCICG I E E I R R FIRITCE SR e LIER |
PHRITHOT: [aeleT:, TTIHISTEA: FieaTaha -
Fold ey gaadiMEETY: gEEeTRSeaTI-
ST Mg qE der e
AT auntE fdieE e A Soe
eI TSRS STASSHLETRa] gy

UIEIEIRIERECRILEIET

O HITE W U A FEr T

a
=
g7

61.

(1) Jeearg o
(2) T3S YEfeT &
(3) HiFeT H
(4) FEART HI

IR 16 O L 7 A IR -y M GO
gl R9ER #0790 g9 - e 7
(1) =g a3Ee

(2) FHHTEARIT | T

(3) dreed =qgell aren

4) FH § 2 T
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63.

64.

65.

66.

‘g Mg gEeARd eeEgihr
T § YEa 9@ F gue R e
e G B S 7

(1) wienfeigafeoessms g
(2) T 9

(3) BIHTITIRIANAT

(4) @a=: Fal

A G& H BiA-A I § 7
1) 99
(2) T

(3) MY

(4) wte

IR 98 T FHE [T aargd
(1) e Irer
(2) wEd T
(8) WM e

(4) SFTEAT A

AT & TEET B E 7
(1) =figwr

(2) deary

(3) TR

(4) 319 q i T



67.

68.

69.

70.

71.

Prfremafa=ae: By Fer T 2 ?
1 AF= B |

@) A B

(3) AT

(4) W F

‘R = & T e g R 7
(1) fm e | |
(2) Ta% [’

(3) = R=

(4) = q 3 T

Brr & & e & g @ e
HA-1 & 7

(1) 918 =By

(2) T AT S

(8) AN WA §q

(4) TR & gfsT:

frr & § ‘oFge’ @E-|1 8 7

1) gm0

(2) ITIH

(3) o

(4) 39 § Hig 7

“EeTg G _Wf HEIIT 997

o7 FrErEly e G TEgI
7 Sfe fopeant B °

(1) oy eml e
(2) TRE qivsd &
(3) omErd Hifesy
(4) epIieraTd &
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(21)

A

3% - 77 orgeBe # Yg%T §o7 Ho 72 &
78 7% % g & Tt g

TERALH  AH  JEAOTHARGHTRTE -
ST, IR eaTe. &, -
AMEHEN  TobRorY, g &o-
TR, STIRIeE:, IR ToIFTe, RISy
e fRen B dmwwr: | uikieeEs @
USTEFATes S R | SErHR s agRa i -
HAERILRIRLATHY T T oaf<q | oa=nsiy
TSR =Ial JoTerest: |

72. ‘gugRh § ygR-gem-fi qar oa=me
P-4 2 7

(1) o + 9 + 9 + qEa
(2 9+ 9 + R + ggaeH
(3) g + &1 + uomr + g

@ T B T

‘SEMTRlEaYy H -9 SN 8 7

(1) 9% (2) 3I9H7
(3) duH (4) w9

73.

74, ‘fdwisie: 7e7 ¥ Wi w A
-6 fastiRg © ° |

(1) 9991, Sga=ad

(2) g, Cepere

(3) [, sga=m

(4) U, THEE




75.

76.

77.

78,

‘STACIERETIrd &OiRen U8 R
fepeen s T %
(1) g &

(2) =& &

(3) =g

(4) T5 % IRA
TSA % gEd & U fRE e ARl
HA 5 7

(1) YIS & 99

(2) THHN & U
(8) 9% & TN
(4) gfqealy $ 7u=

e SRHRST IS H P UST HTE

g7

(1) otersdt

(2) =

(3) MeAT-ysHEr

(4) 399 ¥ 35 i

Ten B qugEwwry ¥ Eisd W
ferere o8 ey gom B 7

(1) Tomsti & o

(2) TEE & T

(3) A=l & W

(4) 9 ¥ Fig T
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79.

80.

81.

82.

83.

SgT RIRT dqareT fRHrrEl T
T |

g} FFETET R 9= s
Tr7ug:) |’

39 G H PHE-A FAFR T ?

(1) 39 (2) I

(3) (4) STHRITILTET

‘GeEmi Sy A AR R T @ 7
(1) FeIYE &

(2) FEERTTBIUTG H

(8) dfriEmfg @

(4) HHaE &

o, T gt g # e
W % U - @ IIGH § 7

(1) orey

(2) 9T

(3) STy

(4) 3 € HIg 7

1 B ?

(1) < BE: AP

(2) SISEHT BT PRSI

(3) ot BE STEsf

(4) STHT BET SAFTEBHR

A gEd: P g ¥ g 1w oA
BT UTT B 7
(1) [
3) g

(2) 9
@ aqq



84.

85.

86.

87.
(1) Rl

‘q wu ArestT § Yamw ww d
BT B & 7
(1) F FRE

(2) FY BH

(3) DI DD
(4) SR FE

Pt § & ‘aoay’ A v - § 7
(1) e

(2) =Bl

(3) SrErgadl ,

@) T ¥ B "W
Rraedieay’ & et 9 & ?

(1) I groadt

(2) offtEFRT =M

(3) SERAEEH a9

(0 39 § FE 7

‘mﬁsﬁq’mﬁ.wm%?

(2) o IR
(3) rwiea=l

@ ==
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88.

89.

90.

A

‘I 9E H gty fumw @ oA
g7

(1) =R=

(2) &R

(3) o e

(4) FAErTE #d

ﬁwﬁéﬁﬂ—mmﬁ%wgw
(1) 5o
(3) oEg

K ﬁm%ﬁ: fafagtewary wefx’ amg #
i@li%ﬂ < H Eﬁ?l—%ﬁ ey & 7
(1) gset

€)) q-cﬁm

(2) A
(4) afedr

(@) =gt
4) ™=

-P.T. O,




A (24)
HARI-III/PART-IIT
A1 (A LANGUAGE-IT (PUNJABI)

61. Ut gw few gag fdat yag € He " 9%
(1) |
(2) »ic
(3) 3=
(4) fgmat

62. I3 fou gt »ugr feg foo3 »iuyg & A
Yird! wew wg adt der

(1) @ ®
3 = 4) =
63. Tl Baf feg BomG W w3 <ol
7 I8 o
(1) =¥/ (2) 2
3w @)

64. I3 ufar maer € »fz o9 FIT 93 § ger A, OF
o g faodt wzar war@s o Gu wae forsdt
a1 s T J
(1) "Iz
(2) frordt
3) T&3
(4 fagat

65. foorags fam § wud O
(1) farr fft & sar §

(2) W= 2 fomrs §

(3) Tan 3w & 93 Bar §

(4) farr ¥&@ & f&de 7 BT BE <93 A9
- fewdt ¥ T §
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Jot fog o Ug & fmrs o ug § U IR yEst
(66-70) = G37 fu& -

awrEE e fefzgw g3 digeyes I fey & dier
T HOA, I, M3 BR IOt wa f3mrar west w2
Ao fiHastier 051 I IHAEE € 28T I HIgES 3,
I S TS| THAES € TIHEGT HEST O HyT ©
I HIS, Har3 H IeF #, U, FEIeEl IeHTS,
deags, wfeaug w3 dife & ¥ ifes yfils o5
oo so9 g8 s9@ € & s Ufifa 31 g few
v Helgeels fonst & waero, =vE fos o Sum
wars! fefsafia res g1 »idht o € At menf
TS H & wrdher e S omauer feg ot SfiE o
fegt 3 »iud yre & fei It fanman Twe e awmds,
reges, H3e, Hiada Ky sroag W3 Jokez (@il
dlgg) fto T fegt fed dufes famsehf o 73 3
<3 Slag was Hienr wier 31 §yg 3 Fint T wlog
yd3 uiae, 237 mErg M3 maghit € i@l yfio o5 |
a2 T 998 gy m3 gufefed ye € I9UET M3 gl
T fagr Yo I3

JWHES Hiedr, FgEdT w3 udfia "t o7& sfanr
flmr 1 o8 € gofig Fas g9t Afgmrag w3 Yt
fefzom @ yIla g5 Ivmes © 99 gomsl mest fed
Wy yo"z ¥ Vo MHfog, fu3serg, oedsg, as<hwet,
FIRET w wier U feo, foZzam w3 Nazr @ et
Hfeg gege o ael rdt Suda & geat W, Udde ©
gET IHEE, JIarHEt € dTHT, »iHe df iedt 3sd
T W Hed ¥3Hg wE ARsile @ fad aaddh e
grre w3 f5Ef weier w2 sEeew € Hiew W ©
Hfea & yfHo J&1 drevioge v efst v e ifes
yfig J1




(25)

gurgrs fefanr @ 839 &9 & yHu 31 Ivwers
femefeformsr B © &3 fonefefemiant fog R
fafenr wer 31 Wug HAfGZ Taws, Afsw, wife & Wy
Jeg faor 31 wormad! fenefefonrer ferzdt fefonr =
g <3 Jeg I woyg © Ot femefefonrs yfHo 31
Guq f&v < maee femefefonrer J1 ex o =@ &7
& rgs ffer 893 31 I w3 Hadg € saedt
et € Hotlefemd g1’

66. nidw A © A Aenft vude #ff faodt @t 3
A3 13 T HS

(1 fo3=arg fed
(2 Fou9 fel
(3) wr@NT fe
(4) AT &3
67. garEs feu g3tast golesihdt fag Afes < ¢
(1) g
(2) diadg
(3) vEW
(4) ¥ASHT

68. fegr fo¥ fao3 2did & waurg i feur wat It
T

(1) =9 Ay edte

@ womn Aot fond
(3) i Tuf3nrg Frat
(4) g FY

69. gwrEs € fao3 Afge § ToHt migg @ i
' wer J

2 s
(4) Py

(1) W
(3 gt
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70, gHAES & QW I feg of I
1) Y=
@ wies
(3) HEES
(4) wI®

Is for 0§ § ug I U8 I yme' (71-75) = €39
fe&

‘HZ dWogg W wEt A e wen doyd © 9w feu
fimmrg 7 Yhurg iF fef Be 1451 Rg dfenm feo il
Youd © &g uged ffg d1 & fust v e
Bge (Bfgz) »3 w3 v W g ot H feg ugHg
e 7t € Ael v fugr ot 88 e Azw e
Ig d MU §3 TF fimmg Ko U ufagd® H3 A8 »iy
ot g&-dtEgr g9d 71E Ae TS|

"oy &g »my 98wt 9aEE 3I1 ueHET &Y »iy
& ugret g9 It uzr &t fime, ue feg oty w=t Yo
I fa 917 TveE & iy § S i8St Hh 9 s €l
g Fa wy fasas guav O fesae 931 B w
ftmrs wt fa wu ofdt g0 7 W g 3 fegr @ few
Foue § ©9 996 = wale o ==t & yw v €
Tar 3 dftF ug vy 3 feg IR v B w3 R
m F &t vy Quan wg 3T fem 3 v 3 R
32 ¥aes © dlo M fem § femdet Auger afde
T3

@ AR T »iv BT udY I8 AR A feR S9d
wy & valeT Wy forl @ fagr wer 31wy € Hiest
wry € B9 98 mons o & fedt 3 fam g wiv ©
wHzEg © fis fiser 31 B v o @ e
wist AT T ey 3 ug yeaRs oz o waew w@
I fed »iy & F2 Ieh feo qawst o Haga
H & wiue gragEt miwer At GF AN 9F R ues
Fft I T oow AN memo fded St § @ v B
YHIFT e |

P.T.O.




fermaet i fEg Hage & yfoge Gt ferset
fagr aer 31 wru & ggar © B Hs afizr I fom
feg »my 2 120 mEE e o1 fogt mEet v fow J
AT »ifegnR, afent it w3 203w feo Adle, afonr,
He 3 UaT ¥ fer g1 fem 3 O uzr fyser I fa Sofui
T o Ug 3% wiy € fegrgt o myesr /i oug vy o
feme I femd sas e 7y FaaT| m yHEHT @ femd
AU § WeR g, AT f¥ war ¥7 e & Quret Tes
gt JI ferddl mEw w ow@y 3 S w3 ==t
a3 ET w3 S fegt 29 fownt &g e w3
oTe @ 8% wWize J1 BF 39 fHiusedt © fias
w3 g § dewr @ fem 13 veme g I

WUE MZ T Y9 399 aT ¥3E9 H He 1523 9
womg s € uw a dors f govdls 9 9@ fegt
€ aHt T BEe HIdEs aaéqfﬁtrﬁﬁezrfé%‘%’%
€8 €3 ¥ g dow ¢ wd 9 R maer 31 A

2w g 57 der der I fam [T AaR wE wigdt |

wEt et 91 aferrd gEeE ¥ 9 ¥ 99 maet 3

HIUTHE g F9 IS

71. W3 degg & O3 wy & Q9 SO T wegdr
O :

(1) 52 A&
85 H'&
(3)
(4
72. H3 #7399 # © dedlad g 9
(1) frdeg ot
(2) Hods =W

67 H'H

72 HE

(3) ST TS

(4) wHET
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(26)

78. gt B9 fsoft mofmz § Wz Wge W @

o

FHFTET K famr F
(1) = By e Hft
(2) - It greem H
(3) dg dodey
(4) SIS HIET Ht
74. A3 VigRg ft € 99 3 Jom Aw

(1) W 2 ¥
(3) fi= (4) et &t

75. femset Huger @ At fam § Hiewr w9
(1) 2 #ogg @

(2) #z =g fous +Hf

(3) ¥z Tt ww

(4) o wree
(76-80) = €37 fo& -

Hog € g Qumg it § wuat wgt fiw was
F e U5 W Hae de 83 we 3 feo Quwg fivgh
& g3 ¥t d B uoE EF T W 951 s dew s
HEEY Qua T FF wE g UeT J1 du & IT Feq
gt U AEt 31 vast @2 Hais o 9 9a’ waw @
&9 ot yarg et agdhr gdtmt ddrm a5, ¥ eoedimt
< gy Fu <ot wiehit g1 daores g ot ot 39t
€ ol wewg g€ U5, feu weew md 2w < it
T oI I&1 HOIg e &% "I, o, fgust grat-
7T v uger 0w J "Ier 91 9Ft U & des e
fhge g5 A9 {3 fogt waeat 2 U 2 oig IT 3%
Ay Hies fazar Son I Fear



(27) . , A

de T3 fegt 3 fenast SadFt et 91 fem o A3

AW, 99T, e, 59, ST & 38 I I3 AHG fanrg

Jer J1 ot Ko ot ot yag @ st @ qu & ge
TI5| FEE o et & et feg ot st 31 few
&% 73 9 dF doz & I madt J1 fedt dor e €
IH W AIET T

fadhet erzad BEt dgr WE Harst @ gyt 3 b
fuzger 31 for =g Forst 3 ugnt BEt g & frser 9
feo o &t wat § Quilesr fée Tsl B, fo Om
T THE ywET 95| He%T & 38T d9sT A1 Hies
=t g7 ot gataag i
76. WG Aoed 3 Ushit € nizde R Wit #ies

fad fogr 9 AaEr I ;.

(1) wdfmz

(2) <59

(8) sam

(4) WIS

77.3@%@%@@1‘&3&%%%@
yuz It 3 ¢ »

(p e

(2 B

@ o

  : (4) AEHDT

78.--?8&3&23%?&33?#1?%@@
(1) g= (2) wael
(3) =9H @ T

79, wAzadt Bt Haw off yEe @ow 98
(1) v (2) €3ma
(3) s (4) Ut
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80. weEht € gu feg TaIhit widtmt Wit gort
g yuz dei I3 -

(1) e g

(@ wiee 9@

(3) Fah S Dot T e
@ TR

fé?m%ﬁ@zguzgétj%a@t{ﬂw ‘(81?85)‘?%
A - . . .

‘A d%d8; 9 € HY A o yu9 faf fus-fug 3
dn wB) far & Bn.& dadt Jez 3 weRr & diF
for @7 € gig gz d Iy & Wi 32 §g Aifant
FBIAt a% Hoa A ug @ & Jat dfsner I N i
J&t w1 wfee € M fa Qo we ot fow e wr
g 31 ug Iast = Fwret &g udse Tt uget 3t
Gt awgat g U%'aa‘fFﬁz‘re"h :

grr fEt'aTET%'rUET fror 3t famm vt €0 wa
ufamr| ﬁié‘m—era@n@gwwumvm e wr
ﬁr@HaB—onFﬁl Gn = gawet st et < W HY
&g "R €2 iz € 98 wat ¥ dlugs goeit Fel gar
FaaT fftmr 1 8T Iy v Je=wa Hh ufiEss
&g On v »uzr 93 i 3 QU 39 'Y Tt IIer HH
gz U g 8w & It ot & ot W gwen i
HBEIE O USTs gyt v faor H feg an & vyt
W3 FI E Jgg § moar € foor wh @w & ot fegt
ot fagg v ¥ fer wfderdt © A &9 Azar que wh

g et 39 &, =@fenr oAz Age W § Be
famim ﬂé‘m?szrﬁ@ww@nsﬂﬁ 3 Bfenr
ot

‘T g1g’ FawEl & offipr, ‘A 2, 3 faet o =g
#rar foor i, 3 & Sed @ wEet oF ggeg
i, ug g9 Ry fve use 99 9 87 § w9 g9 o
Fide 7|
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A (28)

gy JETE fior I & wfgE I, wa I G d€
fogr So-Am 3 e famst O oreh faR 3 g e 3w
a1 e, It e feag O famm g © Azl que 3t
Ud w1 =g @ 39T & wiHes JEt uet adt vt G 2
WEg A

81. 9w & Wt Uiz © wat feg o I Faet ot aret
g

(1) sgder (2) o g
(3) g3 ¢ = (1) duF e @
82, I © wHIE & & S famr
(1) Tz
(2 93
(3) HIeg
(1) fegr feg o€t =dt
83. ‘fawsst O grel I St ww g
(1) foh oast
(2) FJe HAT AIT
(3) v I wer

(4 T <F fauzt v Gl

86.
- fagz 3y a8 wiewr 9 I

derdf feg 2e3 W W M, A1 W, F T whidt §

(L) wed
(2) veor e
(3) s T
(4) yegEr IH

87. e fai Tg»iy ¥ muet e wgg 99 »E G o

€ »Eg 9% IF I, I QR TEniE & wme
RIS

(1) wI=ar
(2) TS
(3) Ba-gazt
(4) feddt mee

88. gromdt {8t T fao3 »iug & dor. frodt, faordt 2

FEIT HBIT BT B
(y § () w
(3) 7 (1) &

89. fonrags WA wiugh Barm I Bamddt € 93 &%

Ugr g8 gugE § dt e U5

84, I € For v G3r of Ifmr famr T (L) uat (2) I=H
(1) o8 =0a (2) uist (3) wEw (4) fenfms
(3) 3 vagE (4) aBgd 90. fog fed Hu mue 9% faosr T ¢

85. a5 & of farrdt ¥ - (1) FIg (2) wiog
(1) w3 @) 2. (3) whog (4) ®log
(3) Ue woe (4) EHEDT
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/}';feﬁu’tyd/rj 2 Lop s e 8

& Liaolsk S 64 “..‘466(.}35 3l

Sl (3)

ZUilghzs, (U

£z (3)

Ulzai (4)

J @ ?ug(j'”gé‘t/@; 61

J (@) be? (1)
Jr (3 Sanf @)
| LS (3)
7@ el (4)
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CGGUHL A 69 e JSet OPLAUEIS 65

Clkgasitsd () SELULE )

) IFLuny @)
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OFBY (3)

ol @ .
k@ SFL O (@)

S U (@) .
. SUtSUL ST s 66
Fa @

e bl duulblss, 70 .
L L (2)

Jo Lol (3)
(5,;1’,97/:?' (2) Lol (4)

J‘HV ) SV W B 67

Sk @ i S

£ @

RIS S P - o

e e e PR
Ve ?u‘?y/ﬂ@ﬁ’éu@)g’@; 68

I PAE s (i (1)

L0 (@ ’

) clalboy Wy £ (2)

e ® Soeion S 1 @

<@ Sl AR @)
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=F (@
ek (3)
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el (D
'JA)L’ (2)
&F ®)
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2l bl by s
A (D)
3 (2)
s34 (3)

JiL @
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73

74

75

76

/ Jiv) u:j ':’,;u”/;’{ s L‘uﬁ Sps ke

e il (184 72

s e BRI A
s ey Jﬂf:o/-‘a.d/;bm{? uﬁng

| ot e Gutetod Ebr 2 U

t’nC;/&C}"‘J;L}JﬁL‘.R-c"- U'qJ(/'li'd);)lfK
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A (34)

HETY
9 - IV — o ug e orer Frrqﬁzs dAHIH,/
aHISed e g IV (a) ST9ET IV (b) § @ TF &
T % U BT B | |
Part-1V - Mathematics and Science or Social
Studies/Social Science i.e. IV (a) or IV (b). Do
only one part.

Tord_@F [FErT IV (a)

oememi ®m o w91 9 150
g B B |

Mathematics and Science: IV (a)

Candidates have to do questions |
91 to 150 from this part 1.e. — IV(a)
(Mathematics and Science).

Ff¢ qenell T wd faeE & 60 99 & Y @
%%W—W%Waﬁa@ﬁﬁéw.-
% B AT B

If candidate 1s attempting 60 questlons of
Maths and Science then darken the bubble
- (Aon the top of the answer sheet.

Cat.—2/23
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(35)

Mathematics and Science :

i #® 9w 91 @ 150 WN - IV(a)
(o fo) @ T B B

Candidates have to do questions 91 to 150
from Part - IV(a) (Mathematics and
Science).

9T - IV(a)/PART - IV(a)
R ud fOsM/MATHEMATICS & SCIENCE

91. a9 ST WHEV W gH W B

(1) ¥ el AR aE @ B

OEGEE kR

(8) 5@ & WU owEr ARAl ¥ ume
&

(4) SF H q P8 To

92. IIURIE B ,
(1) 9 o7 U Yaa &% & a9

(2) géam@fﬁaamasrw
(3) yaW TR Ud GuW MR H q@T
(4) T OF1 ud G MR B AT

93. A9 My | T g oA W B | W@
e 3 B
(1) FEYY S
@) e
(8) IET QT
(4) CEF

94. fwry sfva IR
(1) & o) AR
(2) TEHES A oM
(3) & 7w ok e
(4) AR AR AT

Cat.-2/23

91. The Dbasic theme for water
conservation is
(1) Collecting water where it falls
(2) Collecting water in dams '
(3) Collecting water in canals or
~ streams
(4) None of the above

92. Detergent is
(1) salt of strong acid and strong
. base
(2) salt of weak acid and strong base
(8) salt of strong acid and weak base
(4) salt of weak acid and weak base

93. The colour of the fast rotating
Newton's Disc, appears to be
(1) like a rainbow
 (2) orange
(3) almost white

(4) colourless

94, Which group shows viral disease ?
(1) Cholera and Polio
(2) Typhoid and Cold
(3) Chicken pox and Polio
(4) Polio and Tuberculosis




A

95.

96,

97.

98.

99,

TFEEE B AT Bl IHET HAE B
SET N

(1) 185RA

(2) 10¥ 20 f&=

(3) 20 25 =

(4) 209 30+

frgqardt @ werE | BT A ¥ e
T ST FHA B 7

(1) ¥ H [&o Fo 9

(2)

(3) iy

(4) IYUER sl

fOR 2f % 99 @ GE @ I 49

(1) Al o die
(2) ¥Rl Ud Ieer
(3) SUWrEr wd e
(4) ardi9® T I

IE AT o7 @l A §

(1) ™ & W

(2) S q 9 |

(3) B2 & Ged W

(4) S9gF wE
giad &1 B 2

(1) Nw R #w 4

(2) NF IR feq ¥

(3) M A T &

(4) i o T 9

(36)

95.

96.

97.

98,

99.

The incubation perieds for typhoid
bacteria is

(1) 1-5days

(2) 10-20 days

(3) 20-25 days

(4) 20-30 days

Which of the following quantities can

be measured by potentiometer ?
(1) em.f of cell

(2) current

(3) resistance

(4) All of the above

The image formed by a convex lens,
when the object is placed between f
and 2f is

(1) Real and erect

{2) Virtual and inverted

(3) Virtual and erect

(4) Real and inverted

Magnets  lose their  magnetic
properties, when

(1) Heated

(2) Dropped from a height

(3) Hammered

(4) All of the above take nlace

Brass is made up of

(1) Zinc and copper

(2) Zinc and tin

(3) Copper and aluminium

(4) Aluminium and tungsten



100.

101.

102.

103.

104,

105.

o ®

(1) BHeM A

(2) &Ham ReX

(3) Hgew oTEwl H I=H
(4) ITq IR ¥ ANHTH
R g% o o ©
(1) | R

(2) W& gF
(8) Y FH

(4) AGF

qryeedld Ege H Rew el H
(1) Er (2) TS

(3) FTH (4) TS

IR TF ST & qW F G 4§
S U9 didenl 90 IR
ST B, o & @ed ¥

(1) B

(2) ERgSd T

(3) o

(4) ok Yo

(1) & @ (2) w9 H

@) WMH (4 IER @

afifesy (et § e &

(1) BTt |

(2) o=

(3) &=

(4) IO gl

Cat.-2/23

(37)

100. -

101.

102.

103.

104,

105.

A
The acceleration: of a  particle¢in
SHM is

(1)
(@)
@)
(4)

always zero
always constant
maximum at mean position

maximum at amplitude

- The food required for body growth is

(1) Fat containing

(2) Protein containing

(3) Carbohydrate containing
(4) Fibrous

Atmospheric Nitrogen converts into

‘soluble substances by

(2) Rhizobium
(4) Lichen

(1) Algae
(3) Fungi
If pollen grain is transferred from

anther to stigma of the same flower,
called -

(1) Autogamy

it is

(2) Géitonogahiy
(3) Xenogamy

(4) Syngamy
"Hertz" is the unit of

(1) Force
(3) Momentum (4) Fréquency

(2) Pressure

A taxonomy includes
(1) Classification |
(2) Nomenclature

(3) Identification

(4) All of the above

P.T.O.
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106.

107.

108.

109.

110.

freq @@ 7 ot aRads erm §
(1) Refeest ot 9 sfast i

(2) Refest =i @ fagq o=
(3) Rgg i & i

(4) TEEME ol | Ggg S

T st 1 I B

(1) STETea @i afdrar

(2) &4 % R

(3) o9 o @ R

(4) S9gF H | P TE

e I PR (HEeb<oAr) H
g STl € | Fassed 2

(1) fErg

(2) IE

(8) SiE
(4) &g

‘SRR § 0E
(1) 9RY T~TEH

(2) o=f T

(3) ] TTEH

(4) 9_Y B

E O O W a9 & @

ufEaT B B

(1) qqEr

(2) e

(3) STATONHTT
(4) SREN AR
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106.

107.

108.

109.

110.

An electric cell transforms :
(1) Potential Energy into Kinetic
Energy
Potential Energy into Electrical
Energy

(2)
(3) Electrical Energy into Kinetic
Energy
Chemical Energy into Electrical
Energy

(4)

Example of striated muscle is
(1) Alimentary canal zﬁuscle
(2) Cardiac muscle

(3) Reproductive tract muscle

(4) None of the above

Minute cells are found in mycoplasma.
Mycoplasma is

(1) Virus
(2) Fungi
(3) Bacteria

(4) Green algae

"Cytokinin" is a

(1) Plant Enzyme
(2) Animal Hormone
(3) Animal Enzyme
(4) Plant Hormone

The phenomenon of obtaining pure
water from the sea water is

(1) Osmosis

(2) Filteration

(3) Desaltation

(4) Reverse Osmosis



111

112,

113.

(1) 760 mm Hg

-(2) 1.03 Kg/em?2

(3) 101.3 [ e

"(4) 1.03Kg/em3

ﬁ?ﬁﬁﬁaﬂraﬂﬁaﬁ%ﬁﬁ%@rﬁ
qifeer et 5 Rl Rear o s © 7

(1) TE=HT
(2) mﬁaﬁq
(3) urpferEr we

(4) HHIo

ﬁﬁsﬁﬁﬁt%m&ﬁw%mgﬂfﬁ
weref &

(D) 9T g

114.

115.

(2) FET QB
(3) GhhT I .
(4) qifexm webe

THERI: S’ Eb‘{ﬁ%
(1) gt

(2) wEER g .
(8) %l iR welwr

(4) SO @it

TR PR T W ol ¥ oW E
(1) 39 95H W FbYIF o &
(2)‘3@@:“@%@%

(3) WM FHI # e a9 a9 =
S AT ¥

W HB § 99 A STaRE ol

a%’rarﬁrﬂ'e?fs‘ﬁﬁ

(4)
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(39)

111.

112.

113.

114.

115.

A
The standard atmospheric pressure
can not be expressed as -
(1) 760 mm Hg
(2) 1.03 Kg/em?2
(3) 101.3 Kilo Pascal
(4) 1.08 Kg/ecm3

The desired varieties of economically
useful crops are raised by

(1) Vernalization

(2) Mutafion

(3) Natural Iselectibn

(4) Hybridization

The substance used for adsorbmg
poisonous gases is

(1) Graphlte fibre

(2) Carbon black

(3) Activated Charcoal

(4) Sodium Sulplate

'Migration' is commonly practiced by
(1) Birds

(2) Mammals

(3) Insects & Fishes

(4) All of these

The beans

pressure cooker because

(1) boiling point increase
increasing pressure
boiling point decrease
increasing pressure ‘
Extra pressure of pressure cooker
softens the beans

Internal energy is not lost while
cooking in pressure cooker

are ‘cooked faster in
with
(2) Wit;ll
(3)

(4)

‘P.T.O.




116,

117,

118.

119.

120.

TG Yl I 9N % UE
fmrd =0 8, iR
(1) & qEee g g

@) o€ g = gd # BT w O
AT TR B 2

(3) &t 7 P 2w §

@) g ¥ faorad & @

SHHE FEMM YA WY R S,
SEH RIS et

(1) I &

@) T A o R

(3) ardi & WA 3

(4) 9 TF B AR @

% T9%h A W@ =Y
(1) FEEET BT T
(2) W %1 ¢H
(3) @ W ax

(4) T F THST

(1) gD &
(3) difeqi &

(2) FTY &
(4) AT B

HE HEN (R TEl X AR H fowad

T AT T | boreT H IS G
(o) ® |
(1) C(?CO3
(8) ZnCOs

(4) K,COy

Cat.~2/23

(40)

116.

117.

118.

119.

120.

The primary rainbow appears after
the rain is due to

(1) the reflection of light from rain
drop

(2) the total internal reflection of sun
rays by small drops

the diffraction of rain drops

the double refraction by rain

(3)
(4)
drops

Keeping the momentum unchanged,
if the mass of a body is doubled, then
its kinetic energy

(1)
(2)
(3)
(4)

remains unchanged
gets doubled
becomes half

increases four times

While storing a horse shoe magnet,
its poles are placed in 6011tact with

(1) a piece of wood v

(2) a piece of iron

(8) a gold wire

(4) a piece of glass

Natural indicator litmus is extracted

from
(1) Lichens (2) Earthworm

(3) Ant (4) Algae

When an ant bites calamine solution
is applied on the skin. The chemical
formula of calamine is

(1) CaCO3 2) C(ZCZ
(3) ZHCO3 (4) ]<2C03



(41) A
121, 9Ed AR U 42 Redtam s § aw 121. In a mixture of 42 Kg rice and wheat,
GﬁTﬁiWWS:Z%IQﬁWﬁW the ratio of rice and wheat are 5 : 2. If
ﬁ3ﬁ»‘cﬁmﬁ§aﬁtﬁwﬁmm,ﬁr 3 Kg of wheat is added in the
TC o 7 A AR NG H ST mixture, then what will be the ratio
B ? : : of rice and wheat in new mixture ?
1) 1:2 @2 2:1 (1) 1:2 @2 2:1
(3) 3:2 4) 2:3 (3) 3:2 4) 2:3
122, 4,000 59 F 10 A @i ax @ 122. Find the simple interest of 2 years of
2 Y B FYROT A S BT Rs. 4,000 at the rate of 10% per
annum
(1) 889 (2) 80%W (1) Rs. 8 (2) Rs. 80
(3) 800%7d  (4) 1,600 TG (3) Rs.800  (4) Rs. 1,600
123. 144 G A ST W R F 6 g 123. Vaidehi sells 144 hens and she gets
% g 1 F JUET B Bl g’s‘l SRED loss equal to selling price of 6 hens.
i fersre R 77 What is her loss in percentage ?
(1) 14% 2) 8% (1) 14% (2) 8%
(3) 1% (4) 4% (3) 1% (4) 4%
124. tan (2x + 3) & x P TN GheT ST 124. Differentiate tan (2x + 3) with respect
ETY to x
(1 2 cosz(Zx +3) (1 2 cosz(zx +3)
(2) 2sec?(2x +3) (2) 2sec?(2x +3)
(3) 2x sec?(2x +3) (3) szec2(2x+3)
(4) 2sec?.2x (4) 2sec?.2x
% %14 % T TE/SPACE FOR ROUGH WORK
Cat.-2/23 P.T.O.




125

126,

127.

128,

A T SHDI AT B Y H AN
49 a9 ¥ W g4 g4 A B oY
qifeer B g A AR YA AL A B
Y A HiT |

(1) 85499 (2) 21499
(3) 1299 (4) 1499

gfe 1000 BUF & &9 F 1102.50 o &

(1) 5% A

(3) 7% qH

(2) 4 % qtH

(4) 6% T

(~30) x [33 +(~23)] +(~203) =+ (- 29) F
a4 B
(1) 295
(3) —592

(2) -259
(4) -293

70,040,000,000 & TNE T4 H ¥
SR forer o W B 7

(1) 700.4 x 1010

(2) 7004 x 107

(3) 7.004 x 1010

(4) 0.7004 x 1011

125.

1 260

127,

128.

The sum of Monika and her Mother's
age 18 49 years. Seven years before
the Mother's age was four times of
Monika's age. Find the age of Monika

(1) 35Years (2) 21 Years |
(3) 12 Years (4) 14 Years

If Rs. 1000 becomes Rs. 1102.50 in
2 years. What is the compound
interest rate ? :

(1) 5% annual (2) 4 % annual
(3) 7% annual (4) 6% annual

The value of (-30)
(-203) = (—-29)1s
(1) 295
(8) -592

x [33 +(=23)]. .+

—259
-293

(2)
(4)

How '70,040,000,000 can be written in
standard form ?

(1) 700.4 x 1010
(2) 7004 x 107
(8) 7.004 x 1010
(4) 0.7004 x 1011

5 %E % U FTE/SPACE FOR ROUGH WORK
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_ (43) A
129. IR q Wl o G?l'{l?,% 9 B 129. If @ is the angle between any two
- Q%,aIZgIZI;XE.WQW% vectors and b, then
o ‘ ' ' Ia | !a xb’whenQisequaIto
1 0% (2) - % (1) 0 2) g
(3) = % 4 = % 3) g @ =
130. (0;000729)—3/4 x (0.09)-3/4 %1 A 2 130. The value of (0.000729)—3/4 x (0.09)-3/4
AR o is
00000 10 ' 1
(1) 10000 2 10 (1) 10000 (9) 1000000
.81 129 81 729
729 81 729 81
3) ———— (4 3) —— (4
( ) 1000000 @ 100000 @ 1000000 4 100000
181 2+ 7x+ 722 + 2x3 @ 1 + 2x § AW 34 131. The quotient and remainder obtained
W I A6 TG Q9 HAT: & from dividing 2 + 7x + 7x2 + 2x3 by
1 + 2x are respectively
1) 1,x2+3x-2 (1) 1,x2+8x-2
2) 0,x2%+3x+2 2) 0,x2+3x+2
(3) x2+3x+2,0 (3) x2+8x+2,0
4) x%+3x-2,1" 4) x2+3x-2,1
132. IR & ¥y dEmst o oY b B 9= 132. If Arithmetic mean and Geometric
LI G R | 2 IS ﬁ“ﬁﬂ'{ HEg spHEC 10 mean of two positive numbers a and b
T 8 B, f €EI 's"ﬂ?f & are 10 and 8 respectively, find the
o numbers
(1) 2,4 (2) 4,16 (1).2,4 (2) 4,16
(3) 4,8 4) 2,16 (3) 4,8 4) 2,16
% HY & [T TE/SPACE FOR ROUGH WORK
Cat.-2/23 P.T.O



133.

134,

135.

136.

cot"l[—%)aﬁ[ RIS ECIE] ?ﬂﬁzb_\{'

27 37
1) — 2) —
()3 ()2

%78 o
3) 2= 4) =
()2 ()5

HET 1296 & ar"r'{rq SIRECIIEIY

(1) 24 .
(3) 34

(2) 36
(4) 26

98 W B e 4 8, M 12, 16,
24 X 36 T 9T a5 9X 90% &M H 9
g Edr g 7
(1) 151
(3) 153

(2) 149
(4y 137

T 0T F A FABU SN AT WY

(1) 90° (2) 458°

(3) 80° (4) 100°

(44)

133.

134.

135,

136.

Find the principal value of
-1 1
cot (___}
)
27 . 31
1) — 2) —
(1) r3 (2) 2
(3) 2 @ =
2 5

Find the square root of the number
1296

(1) 24
(3) 34

(2) 36
(4) 26

What is the least number, divided by
12, 16, 24 and 36 gives remainder 9
in each case 7
(1) 151
(3) 153

(2) 149
(4) 137

Find the measurement of the angle

which is equal to its complementary

angle
(1) 90° (2) 45°
(3) 80° (4) 100°

1% & $ [T SE/SPACE FOR ROUGH WORK

Cat.~2/23



(45) A
137. Frfafea § 9 dW-af g fpa gear 137. Which of the following cannot be the
B WiEar &7 & St & 7 probability of an event ?
2 2
1) = 2) -1.5 1) = 2) -1.5
(1) 3 (2) : (1) 3 (2)
(3) 15% (4) 0.7 (3) 15% (4) 0.7
188, T y2 = x 3@l x = 1, x =4 W 138. Find the area of region bounded by
x-3T8 | B 8 # &R AT B the curve y2 = x and the line x = 1,
x = 4 and the x-axis
14 3 - 14 3
1), — 2) — 1) = 2) —
()3 ()14 ()3 ,()14
12 4 12 4
3) — 4) — 3) — 4) —
S @ - @) < @ -
139. 3 Y Gﬁ?b_a;f : 139. The me'a:n, mode and median of the
‘ , given data : :
. 86,15,50, 120, 80, 100, 15, 10, 10, 8, 15 6, 15, 50, 120, 80, 100, 15, 10, 10, 8, 15
R AL, SR R Mtz waa: ¥ are respectively »
(1) 89,15,17 (2) 15,15, 39 (1) 39,15,17 (2) 15, 15, 39
(3) 39,15,15 (4) 37,15, 15" (3) 39,15,15 (4) 87,15, 15
140, % T IR SERPE %’ﬂ‘ﬁf T 2 | 140. The areas of square and rectangle are
T A # Y 40 R ama @ equal If side of square is 40 cm and
qas 64 THN A, A ST F ARHG B length of rectangle is 64 cm then
» perimeter of rectangle is
(1) 25 (2) 187 9 (1) 25cm (2) 187cm
(3) 17894 (4) 1600 T (3) 178em  (4) 1600 cm
% %1 & U Te/SPACE FOR ROUGH WORK
Cat.-2/23 P.T.O




141.

142,

143.

144,

145,

80 ® AT Ysiy H ey foran s
T B 7
(1) XXC
(3) XXXL

(2) LXXX
(4) XXL

TS 99 6.6 ¢ H 267.3 fRaiEer @
0 @@ & 21 99 EN AkEe a1 Wl

e oirad g @
(1) 4058 (2) 40.5 T
(3) 4150 (4) 50.4 feHl

99 F TH SEr R WE A ¥
TG 8 H AR FEART 2

(1) Prugs

(2) uRfy

(3) ditar

(4) gTEE

87 %1 g9 dEFT BNl
(1) 658403 (2) 648503
(3) 658503 (4) 658513

- F oa+ib d WY H TFT B

(1) 1+2v2

@) 1- 242i

3) 242 +i (4) 242 —i

(486)

141.

142,

143.

144,

145.

(8) 41.5Km

How can 80 be written in Roman.

system ?
(1) XXC (2) LXXX
(3) XXXL (4) XXL

A bus travels 267.3 Km in 6.6 hours.
Find out average distance covered by

bus per hour
(1) 4.05 Km (2) 40.5 Km

(4) 50.4 Km

Circular area bounded by a chord and
corresponding arc of a circle is called
(1) Radial Sector

(2) Circumference

(8) Chord

(4) Circular Sector

The cube of 87 will be
(1) 658403 (2) 648503
(3) 658503 {(4) 658513

E

Express S5+

1-42i

(1) 1+24/2i

intheforma +ib6

(2) 1-2J2

(3) 2V2 +i (4) 242 —i

{6 %14 & [T S¥E/SPACE FOR ROUGH WORK
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(47). A
146:: 972 14/21 = x/3 = 6/y &, &, x GﬁTy % 146. If 14/21 = x/3 = "6/y, then values of x
I U % and y are respectlvely
1) 2,9 @) 9,2;; (1) 2,9 2) 9,2
(3) 7,9 4) 2,7 3) 7,9 4) 2,7
147 @ Tt ﬁzﬁo’f 32 %| 147. The diagonal of a square is 3.2 m. Its
S B B R . area is ' »
(D 1024 H2  (2) 2.56 W2 (1) 10.24m* (2) 2.56m>
(3) 3.41 W2 @ 5.12 H2 (3) 341m? (4) 5.12m2
148. 6 & W 9RT F AW 1.40 fre ¥ 148. The diameter of a bus wheel is 1.40 m.
o 250 BT RN BEE ST W@ @ ' What is the speed of bus if it rounds
L ER . 250 per minute ? E
(1) 33 ﬁm’r/aa (2) seﬁm“r/aa (1) 33Km/h  (2) 86 Km/h
(3) 68 fHIEeT - (4) 66 fHHiEeTr (3) 68Km/h  (4) 66 Km/h
149. 31T Eﬁ% HQJT 47 FFGTIT% A FA B 149. How many square tiles of 50 cm wide
By W THEA B T 50 W Sl rait are required to cover a room's floor of
el aiepIR ergall @t aTasaehar erft ? 3 m width and 4 m length ?
(1) 96 (2) 84 (1) 96 - (2) 84
(8) 48 (4) 240 (3) 48 ;.. (4) 240
150. 40“21'3% K(ERE ‘Tl‘Tﬁf EEELY '150. Convert 40°21' into radian measure
270 270 T 270 270 ©
2 1 2
(L) 121 ( )»~121 o ( )__1211:~ @ 121
@ 2207 gy Y B @ 220%  (4) None of these
121 R T o121
-3 % U TE/SPACE FOR ROUGH WORK
Cat.-2/23 P.T.O




A (48)

YTt
qRI — IV — R wd REE syar Qe deg-/
s s erid IV (a) ST IV (b) § & TH &
AT & USH B A ¢ |
Part-IV - Mathematics and Science or Social
Studies/Social Science i.e. IV (a) or IV (b). Do
only one part.

T STegq7/aranaw [qera: IV (b)
gt @ g9 91 § 150 & HEH B
Social Studies/Social Science: IV (b) |

Candidates have to do questions
91 to 150 from this part i1e. — IV(b)
(Social Studies/Social Science).

e qenedl A sterae /At e & 60
U Bl Y W 2 Al JA-USH & SUL a1 Fedl
¥ ¥ geaa B & B w |

- If candidate 1s attempting 60 questions of

Social Studies/Social Science then darken

the bubble on the top of the answer
sheet.

Cat.—2/23

P.T.O.
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IR CR PSS E R CEIR IR

Social Studies/Social Science :

wRial & 9 91 | 150 HFT - IV(b)
(arive eremae /ame RBEE) @ & w)
gl

Candidates have to do questions 91 to 150
from Part - IV(b) (Social Studies/Social |
Science). '

T - IV(b)/PART - IV(b)
Qe 1T+ /qMINS [As9/SOCIAL STUDIES/ SOCIAL SCIENCE

91. s-3fwEd (@) & @ - @ & [
P RTFER Bk © ?
(1) geart
(2) TEdITEr
(3) TRRER

(4) ST § ¥ FF

92. g wid ¥ Ygmcas] T UUTRH
AL foar A ?
(1) T=8 "
(2) 9 id
(3) W& Wid
(4) FEE 9id

93. 9 UM & R orgesE ¥ Sfad
fopar T B ?
(1) ogBe 129 (2) oTgess21d
(3) orgmE 22 # (4) HTWT 20 H

94. WRT § FAE oW BRI YAE WERX B
fore FreiRa sl ®

(1) dF |<e
(2) & g<ie
(3) TH G<IlE
(4) IR | 9 g T

Cat.-2/23

91. Who is responsible for maintaining
the land record ?

(1) Patwari

(2) Tahsildaar

(3) Numbardaar

(4) None of the above

92, In which province Raiyatwari revenue
system was implemented ?

(1) Bombay province
(2) Bengal province
(3) Madras province

(4) Central province

'93. In which Article of Indian
Constitution the 'Right to life and
personal liberty' has been described ?
(1) Article 12 (2) Article 21

(3) Article 22 (4) Article 20

94. The duration for Election Campaign
decided by the Election Commission
in India, is
(1) 3 weeks
(2) 2 weeks
(8) 1 week
(4) None of the above

P.T.O.




A

95‘

96.

97.

98.

AHEN @ RUEEw g ¥ g
SHIER g @9 & S R Hared
AT B} 79 S i ¥

(1) 257 AT 10 A
(2) 10 9@ SIX 25 A
(3) 30T I 15 W@
(4) 15 e SlI¥ 30 T

A9 | AR & I9I HFOFT AT
(1) IE i~ H IROMEE g9
(2) SRS & gerEte garl @ g

(3) A g F7 IY

(4) Iuge A+t

e § A% qw R @ ¥ 2
(1) 10
(3) 20
UL AR Safed 2
(1) g=13 ¥

(2) @i H

(3) 7 R o

(2) 15
(4) 25

(4 T H

Cat.-2/23

(50)

95.

96."

97.

98.

The maximum limit of expenditure
allowed by the Election Commission
in India to contestant for the parlia-
ment and legislative assembly elec-
tions should not exceed

(1) 251ac and 10 lac
(2) 10lac and 25 lac
(3) 30lacand 15 la;:
(4) 15 lac and 30 lac

The reason behind the growth of
nationalism in Europe was

(1) Inspirational influence of French
revolution

(2) Impact of Napoleon's admini-

strative reform

(3) Origin of middle class
(4) All of the above

How many Lok Sabha seats are there

in Haryana ?
(1) 10 (2) 15
(3) 20 (4) 25

National Archives is situated in
(1) Mumbaik

(2) Kolkata

(3) New Delhi

(4) Pune



(51) A

99. =1 F @ el B Rpw ogw F afe 99. In which of the following pair of cities
g’ fiy § 7 ~ the 'fire altérs' have been found ?
(1) FET - (1) Kalibangan - Lothal
(2) ‘il%‘ﬁﬁﬁﬁ -3 (2) Mohan-Jo-Daro — Harappa
(3) SEERT — S | (3) Dhaulavira — Lothal
(4) S — Fege - : (4) Amari - Kotdiji
100. ﬁﬁﬁﬁﬂ T 100. Match the following :
A. do TN Ye® () WA w9 A, Pt. Motilal Nehru (i) Member of
‘ TS ' - Constituent
Assembly
B. dlo 3o <= (i) €y 991 & B. B.R. Ambedkar (ii) President of
ey Constituent
” o Assembly
C. 9= yqE (i) UT&Y HHE F C. Rajendra Prasad (iii) President of
T Drafting
v ' Committee
D. W ) 1998 & R D. Sarojini Naidu (iv) Formed the
. Constitution
SR A .
Resolution
. . : [ 1in 1928 »
A B C D A B C D
D) GG @@ 1) Gv G G - G)
(2) Gi) i) @ (iv) (2) (i) (i) ) (iv)
(3) () (ii) Gil)  (v) R (3) @ Gi)  Gi) G
) () G dv) @) @ G) G a6
101. HES P % oal Gy & oreay B 101. The Chairman of Public Account
» Committee of Parliament is ‘
1) o gEs | (1) Pranab Mulherjee
(2) qaHr W‘ (2) Sushma Swaraj
(8) WHST TS " (8) Lalkrishna Advani
(4) IRl AT Sl (4) Murli Manohar Joshi

Cat.-2/23 ~ P.T.O.




102,

103.

104.

105,

106.

o' F AN FT GEEd & 7
(1) 97 9 T S
(2) (98T 9T UHHE BN

(3) fret R T PR T uEHE
STHR

(4) o % FAER T THAH STYBR

=t & § FF-a A & aiem
TEr e ?

(1) STl

(2) HE SrEa

(3) SUASTEBTT

(4) 919 - AR

TR I @S &5 o

(1) 1674 % (2) 1746 §

(3) 1774 (4) 17641

9 qffe Ff @ Al Heed 9K
g o

(1) vEar §

(3) warT H

(2) Tl o
(4) oo H

EER I TICIES AR i
(1) = i

(2) T=aE geaw

(3) ¥l FYRTET

(4) Iudes H | HiE TR

Cat.-2/23
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102,

103.

104.

105.

106.

What do you mean by Patent' ?
(1) Exclusive rights on property
(2) Exclusive rights on education

(3) Exclusive rights on any ideas or

inventions
(4) Exclusive rights on right to
information
Which among the following was no#
the consequence of Industrialization ?
(1) Urbanization
(2) Mass production
(8) Colonization

(4) Blind nationalism

The battle of Buxar took place in
(1) 1674
(3) 1774

(2) 1746
(4) 1764

The first ever compilation of Jain reli-

gious text took place at
(1) Amravati (2) Vallabhi

(3) Prayag (4) Ujjain

Who was the architect of New Delhi ?
(1) Charles Correa

(2) Edward Lutyens

(3) Le Corbusier

(4) None of the above



107,

108.

- 109,

110.

111.

Bt & @ dmr 39 AT A & AW
TR ?
(1) st
(3) FAN

(2) gFmRar
(4) et

Fﬁﬁﬂ (Democracy) 1% 58 @9t ¥
forar mar & 2

(1) |
(3) g

2) =
(4) =d

W%uwwr&,{qﬁfqﬁq%?

(1) Sfo HeTwt UFEH
(2) TERN d%e IR
(3) Sfo et gaT

(4) dlo o =

foe - =9 i ar
(1) gell & (2) S H
(3) WE &  (4) TS H

STTHT 368 H Tl ¥

(1) suEeeT |

(2) Ul & g |
(3) HEYH gshe |
(4) 99 HA¥HRI |

Cat.-2/23
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107.

108.

109.

110.

111,

A

Which among the following countries
18 not a part of the 'Balkan region' ?

(2) Bulgaria
(4) Italy

(1) Romania

(3) Greece

The Word "Demoéracy" is taken from

which language ?
(1)Spanish (2) French

(8) Greek (4) Dutch

Who was the first Vice-President of
India ?

(1) Dr. Sarvapalli Radhakrishnan
(2) Varahagiri Venkata Giri
(3} Dr. Zakir Hussain

. (4) B.D.Jatti

Indo-China was the Colony of

(1) Italy (2) Germany
(8) France (4) England
Article 368 relates to

(1) Emergency
(2) Election of President
(3) Amendment to the Constitution

(4) Fundamental Rights

P. T. O.




112,

113.

114,

1is.

iise.

AT H 998 MRt =9l

(1) e, TO9EH 7 HEMRGE |

(2) TARREYT, TOTENT T JGFEES 9

(3) THE I TIAAT §

(4) TEEAT, THIW g TSI T

are A gy Fafes @ Ay @

(1) =¥ Se=s

(2) g% F He =R

(3) fugst % fem

4) 3§ A w5 AE

et & 9 - et AifdE s
(L
(2)
(3)
(4)

FEA H W SAABN
ST & faws ST
AT FT SAERT

e =T & AR

M= ¥ FE g & e § d9s
TER 7

(1) AR (2) TiETET
(4) eI

“ARET TS HEET E WO F9 58

(3) Y

-

(1) 1885 ¥
(3) 1887 ¥

(2) 1889 H
(4) 1881 #

Cat.-2/28
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112.

113.

114,

115.

i186.

The Parliament of India comprises of

(1) Loksabha, Rajyasabha and
Council of Ministers

{2) Loksabha, Rajyasabha and Prime
Minister

(8) Loksabha and Rajyasabha

(4) Loksabha, Rajyasabha and
President

The subject matter of Buddhist scrip-
ture Vinay Pitak'is

(1 '
(2)
{3)

(4)

Religious Sermon
The life sketch of Buddha
Rules for Monks

None of the above

Which one of the following is not a

Fundamental Right'?

{1) Right to strike

(2) Right against exploitation
(3) Right to equality

(4) Right to freedom of religion

Who among the following is not
related with the unification of Italy ?

(1) Mazzini (2) Garibaldi

(3) Cavour (4) Mussolini
"Indian National Congress" was
established in

(1) 1885 (2) 1889

(3) 1887 (4) 1881



117. §Y T Frg F a9 8
(1) o=l e |
(2) dum s«
(3) 7 R |
(4) Frr fade |
118. " w9 ¥ B 2 di@ g wewem
& & . 7
(1) difeig 8 (2) oy geur |
(3 g H (4) dore A
119. Fr=1 4 & 58 o6 § q9ERE Ra
T QER Semi & e & ?
(1) g (2) TE
(3) Tawsi 4) AgT=
120. X7 §F RRT ¥a A NAHRE B o ?
(1) Jet
(2) e
(8) Hfves
(4) I9gEd § 9 P o
121, 99 @ VMR IR @@ & g d
| g T B e
ERERICTE IS
@ g (2) et
(3) gl & (4) HEETHH
Cat.-2/23
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117,

118.

119.

120.

121.

Sidhu and Kanhu are related to
(1) Munda uprising

(2) Santhal uprising

(3) Bheel uprising

(4) Koya uprising

In which State the Mid Day Meal
scheme was first introduced ?

(1) Tamil Nadu (2) - Andhra Pradesh

(3) Haryana (4) Punjab

Which of the following dynasties built
grand gardens in medieval India ?

(1) Mughal
(3) Khilaji

(2)  Tuglaq
(4) Sayyad

Who was the inventor of Printing

" Press in Europe 7,

(1) Guttenberg

(2) Caxtoﬁ

(3) Remington

(4) None of the above

..... vveeereerUnemployment is when

people appear to be employed but

~ actually they are not.

(2) Seasonal
(4) Structural

(1) Open
(8) Disguised

P.T.O.




122.

123.

124,

125.

126.

WY W qEEREl & FAMRR el S
i Y@ FEE @

(1) e

(3) Teer

(2) TR
(4) AT\
AR B q w41 & 98
(1) gie HEeie ad
(2) T R W
(3) =¥ AT 9
(4) Mg WREE X

I H OANES A% B g AN
BT 1 T SfRierT © 7

(1) 2.4 (2) 3.5
(3) 3.2 (4) 3.7
39T FH TG TIT aOINGS SF B

(1) =@ J% offw 2o
(2) Ve ¥% e 3fear
(3) Ao Ao IMEo Ho o I
(4) STEo o Ho Mo

R G B 2 B =1 o A o o

qmr & 7
(1) IS (2) ofF mRY
(3) T (4) B

Cat.—2/23
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122,

123,

124.

125,

126.

Lines that are drawn on the Globe
parallel to the equator are called

(1) Tropics (2) Longitudes
(3) Latitudes (4) Meridians

The largest rail-route of the world is
(1) Trans Siberian Railway

(2) Trans Arabian Railway

(3) Trans European Railway

(4) Trans Asian Railway

India constitutes ................ % 1in the
total Geographical Area of the world.

(1) 24 (2) 3.5

(3) 3.2 (4) 3.7

The largest Commercial Bank of the

country is

(1) Reserve Bank of India
(2) State Bank of India
(3) I.C.1I C. 1 Bank

(4) I.D.B. L

Which State in India has the largest

coastline ?
(1) Orissa (2) Andhra Pradesh

(8) Guarat (4) Kerala



127,

128.

129,

130.

131.

(57)
‘wd e SRR
oY wE P wll w= wowlr R
TEN B R § T Few R

oooooooooooooooo

(1) B: 9 o=E
(2) o6 § &d
(3) &9 ° 9E
(4) IX 4 T=8

fearera qe oo P gR @ 9T E 7
(1) @i &

(2) "L b

(3) SETEl T

(4) I9G® ° | BT T

et & gu fRsm ®

(1) 9& & =M

(2) aRew § @

(8) IWX 9 3R

(4) MO F IW

Fre § & @981 oiioR® 78 787 &

M 37
(3) gt

@) T
(4) g

e § @ oA e B WO
T ?

1 Sl et
(2) | et
(8) gad FHelt
(4) = et

Cat.-2/23

127.

128.

129.

130.

131.

A

'‘Sarva Siksha Abhiyan' is a step |
towards providing = elementary
education to all chjldreil in the age
group of l .
(1) Six to Fourteen

(2) Eight to Ten

(3) Ten to Twelve

(4) Four to Fifteen

Himalaya and Alps are
(1) Fold Mountain

(2) Block Mountain
(3) Volcanic Mountain

(4) None of the above
The earth rotates
(1) East to West

(2) West to East

(8) North to South

(4) South to North

Which among the following is not an
inner planets ?
(1) Mercury
(3) Earth

(2) Venus

(4) Jupiter

Which among the following is a
conventional source of energy ?

(1) Hydro energy

(2) Solar energy

(3) Wind energy

(4) Tidal energy




132.

133.

134.

135.

136.

R T sam’ Reg ®
(1) T d
(2) T |
(3) W H
(4) a9 H

g P g ¥ A W §
BRI

(1) gf$=] =@ie
(2) ST 9G
(8) HeHTdl AR

(4) I8 gdl wRa

(1) ofiT g 7 W& awtt olia gae
(2) 4 ®G | & g T gET
(3) ™ kg § F& drar §i 9ad
(4) T FG F B Al T qE

IRT F BRI §F HA-H 8 0
(1) Row % 3w s

(2) We dF A% e

(3) =i Tl I

(4) @9 9% S s

1241 JoEdig Ao H oy B
(1) 2009 —2014 (2) 2012 — 2017
(3) 2011 - 2016 (4) 2010 — 2015

Cat.-2/23
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132.

133.

134.

135.

136.

‘Gir National Park’ is located in
(1) Rajasthan

(2) Gujarat

(3) Maharashtra

(4) Assam

In which part of India is ‘Jhoom
cultivation’ practiced ?

(1) Western Ghats
(2) Southern India
(8) Middle India

(4) North Eastern India

'Chinook’ is

(1) Cold wind blowing in winter
(2) Warm wind blowing in winter
(8) Cold wind blowing in summer

(4) Warm wind blowing in summer

Which is the Central Bank of India ?
(1) Reserve Bank of India

(2) State Bank of India

(38) Central Co-operative Bank

(4) Central Bank of India

The period of 12th Five Year Plan is
(1) 2009 -2014 (2) 2012 - 2017
(3) 2011 -2016(4) 2010 - 2015



137.

138.

139.

140.

141.

R B g § ufdem @ e ¥
(1) 3214 freft
(2) 3516 BT
(3) 5200 FpHI
(4) 2933 frd

TR’ q AT B |
(1) verEt § e ard & e
(2) @ S

(3) IR sl

(4) IRF § 9 FE T

STOET 2011 ® STER
e 3 _

(1) 933 (2) 920

IR |

(3) 861

Frer 8 @ @Ml v e i @
9T AT W & 7

(1) wdi (2) fearm
(3) I (4) T

Ty @ gg & B Re ge gy
T T IR @ &

(4) 940

(1) 9 @ Iary g%

(2) T G TS5
(8) IYFHAH B: A TFH

(4)3&%?6?53@@%3% RSAviEs |
UEHR T2 FHIeT 2

Cat.-2/23
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137.

138.

139.

140.

141.

A
The East - West breadth of India is

(1) 3214 Km
(2) 3516 Km
(8) 5200 Km
(4) 2933 Km

‘Bugyal’ means

(1) Grass land situated in mountains
(2) Arid forest

(3) Desert region

(4) None of the above

What
according to the census 2011 ?

(2) 920
(4) 940

is the sex ratio in India
(1) 933
(3) 861

Which among the following mountain
range separates Asia from Europe ?

(1) Andes (2) Himalaya

(3) Eural (4) Pyrenees

The Vice - President who assumes the
office of the President in case of
vacancy due to death holds it for

(1) The unexpired term
(2) Ayear
(3) Six months at most

(4) Till the date when newly elected
President assumes office

P.T.O.
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142,

143.

144.

145.

- (60)

SEPET 2011 & HYER WRAG #H

sEen § e ghe

(1) 21.02%
(2) 17.64%
(3) 19.5%

(4) 19.6%
IR o W &
(1) SoF8 &Y
(2) ST ITX
(3) HAE &
(4) STRB HT

THE 7

(1) TR — AHETg

(2) TAYT — o™

(3) AW — I Hae

(4) &M - FAeH

e, F@l 9w & 9y @Ed qdl
SRIRIST & 8

(1) qFERY

(2) @

(3) =TT

(4) TIEREE

142.

143.

144.

145.

The 'Decadal growth' in Indian
population

2011 1is

according to  census

(1) 21.02%

(2) 17.64%

(3) 19.5%

(4) 19.6%

The Service Tax in India is
(1) Direct Tax

(2) Indirect Tax

(3) Increasing Tax

(4) Dec;l'easing Tax

Which option is not correct in the

following ?

(1) Kalapakkam — Tamil Nadu

(2) Tarapur — Rajasthan

(8) Narora — Uttar Pradesh

(4) Kaiga ~ Karnataka

longest

The  country, having

International border with India is
(1) Bangladesh

(2) China

(3) Myanmar

(4) Pakistan



(61) A

146. fr=fofed o e & av@ ¥ g 146. Kerala has low infant mortality rate ;
)
HegaX ~-qH g7 because of : ]
. o
(1) d8a% Qe gﬁ%rrq (1) better educational facilities .
(2) afye w@rey glearett & GRIER (2) adequate provision of basic E 5
gee health - N
. : » i
(3) TR % X QY (3) better employment opportunities *
(4) IRFq g (4) All of the above :

147. F=fofag & § @@ @t 98 -8 147, Which is the largest river among the |

_—— e e

g7 following ?
. (1) Ganges (2) Brahmaputra '
(1) v (2) TG i
148. el w99 F27 ¥ 2 148. The fifth largest planet is B
. N
(1) s @ TF (1) Mars (2) Venus N
(3) ge=ft (4) (3) Earth (4) Saturn ‘
149. UNDP sl IR #d fee R 149. Human  Development  Report !
a9 A FAE emeR W e HA B 7 published by UNDP Compares !
countries on the basis of i
(1) TR F A T _ (1) Education level of the citizen » ‘ g
(2) T € ®Y (2) Their health status 1
I
(8) 397 FI wigeaty o (3) Country's per capita income x
(4) I TR v : (4) All of the above ' :3.

Cat.-2/23 : : P.T. O.




156, Ty @1 qrod 2
(1) 9o gedl T -

(2) T NS B oAEd 8ler &9
(3) =Ry Nemg § aed s =79

(4) 3995 | A 3

(62)

150. ‘Equinox’ means

(1)

(2)

(3)

(4)

Equal day and night on the entire
Earth

Shortest day in the Northern

hemisphere

Shortest day in the Southern

hemisphere

None of the above

Cat.~2/28



